Manuals+ — User Manuals Simplified.

s
ALGO MON
84101P 1 2 ° O 4
Display 2 pv R
Speaker

ALGO 8410 IP Display Speaker Installation Guide

Home » ALGO » ALGO 8410 IP Display Speaker Installation Guide ™=

Contents

1 ALGO 8410 IP Display

Speaker

2 INSTALLATION

3 Documents / Resources
3.1 References

4 Related Posts

ALGO 8410 IP Display Speaker

ABOUT

The Protective Cover — 8410 IP Display Speaker is a polycarbonate cover that can be installed with the 8410 IP
Display Speaker to protect the display screen from accidental contact due to activities in the surrounding areas.
The protective cover can be installed before or after mounting the 8410. The full user guide for the 8410 can be


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/algo
https://manuals.plus/algo/8410-ip-display-speaker-manual.pdf
https://manuals.plus/#algo_8410_ip_display_speaker
https://manuals.plus/#installation
https://manuals.plus/#documents_resources
https://manuals.plus/#references
https://manuals.plus/#related_posts

found on algosolutions.com/guide/.

Included

« 3/8” Polycarbonate Sheet (1)

« Attachment Brackets (2)

« 6-32 Bracket Attachment Screws (4)

« 10-32 Polycarbonate Sheet Attachment Screws (4)
« Size 10 Aluminum Spacers (4)

Important
This guide contains safety information which should be read thoroughly before permanently installing the product.

INSTALLATION

Before installing, note that adding the 8410PC to an 8410 adds 3.3lbs (1.5kg) to the total weight of the 8410.

1. If the 8410 is already mounted to the wall bracket, start by removing the 4 flat head mounting screws. The 8410
can be rested on the hook of the wall bracket. If the 8410 is not mounted, skip this step and go to step 2.

2. Peel off the protective liners on both sides of the polycarbonate sheet.

3. Tighten the attachment bracket on each side of the 8410 and attach using the 6-32 attachment screws. These

screws thread directly into the 8410 wall bracket, securing the attachment brackets and 8410.

4. Install the polycarbonate sheet using the 10-32 attachment screws and aluminum spacers. Ensure the

rectangular cutout is aligned to the speaker grill of the 8410.


http://algosolutions.com/guide/

©2024 Algo Communication Products Ltd. | All Rights Reserved.

Documents / Resources

Protective Cover - 8410 IP
Display Speaker
Installation Guide

ALGO 8410 IP Display Speaker [pdf] Installation Guide
8410 IP Display Speaker, 8410, IP Display Speaker, Display Speaker, Speaker

References

. Home - Algo Communication Products Ltd.
+ User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/71f304e673d159dbec0ddb44efb20b0100d4c04583e9485d6cac60ba4b5104c5
https://manuals.plus/m/71f304e673d159dbec0ddb44efb20b0100d4c04583e9485d6cac60ba4b5104c5_optim.pdf
http://www.algosolutions.com
https://manual.tools/?p=15302780#MTA0LjI4LjIwMi4xNzk7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	ALGO 8410 IP Display Speaker Installation Guide
	ALGO 8410 IP Display Speaker
	INSTALLATION
	Documents / Resources
	References



